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MATHEMATICS

1. 1 x| 2 o (10 then values
) x{3J+y1-5, value

of xand y are

A} x=3,y=-4
B) x=3,y=4

C) x=-8,y=-4
D) x=-3,y=4

2. If A, B are symmetric matrices of

same order, then AB - BA is a
A) skew symmetric matrix

B) symmetric matrix

C) zero matrix

D) identity matrix

3. If Ais a square matrix such that

AZ= A, then (I + A)® - 7A is
A) A

B) I-A

C) |

D) 3A

4. If A and B are square matrices of

order n such that A = kB then

A |Al=k|B|
B) [A|=k"|B|
C)|A|=|B|

D} |A|=k""|B|

nfora

: :rfax[g] +y[_:] _ [150}%.a’lxaﬂty

&AM €

A) x=3,y=-4
B) x=3,y=4

C) x=-3,y=-4
D) x=-3,y=4

. AR A, B R 3vft ¥ gl amrege €, )

AB — BA T%
A) Torem wmfta ameqg @
B) wmfira smmeyg 2

C) ¥ 3o &

D) werafieT 3Trgg 2

CIRAT T mEREfEAZ=A,

A(I+AP-7AR

A) A
B) I-A

C) |

D) 3A

. AR A 3R B Avft n 1 =i sy v v E
fFA=KkB®

A) |A|=k|B|

B) |[Al=k"|B|

C)|Al=|B}

D) |A|=k"-'|B]|
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3. The function f(x) = | x|+ | x—1|is

A) continuous atx =0 and x = 1

B} continuous atx=1butnotatx =0
C) discontinuous at x=0and x = 1

D) continuous at x = 0 but not at x = 1

. The function f(x) = e!*l is

A) continuous everywhere but not
differentiable at x = 0

B) continuous and differentiable
everywhere

C) not continuous atx =0
D} none of these

1

. Forthe function f(x) =x + _, x e [t, 3],
X

the value of ¢ for mean value theorem
is

A) 1

B) V3

C) 2

D) none of these

. It f{x) = | cos x — sin x |, then f(%) is

A) [J§—1J
2
J3 +1
B) 5
C)—3+1
2
{3 +1
0 (2 )

A O

5. Wl f(x) = x|+ |x—1|2

A) x=03R x =1 WA=

B) x = 1 W et & x = 0 W e
C) x = 0 3 x = 1 W IfHat

D} x = 0 W e &fdk x = 1 w7t

. B f(x) = e!*I2

A) & TR WY X = 0 W AaHeH 1 e
B) Tdx Pt 3R sraeer g

C) x = 0 W At 7

D) T @ &g el

L EeR () =x+ 1, xe [1, 3] 3, M TH

PRI c A
A) 1

B) V3

C) 2

D) ¥ @ =¥ 76

. AfE f(x) = | cos x ~sin x | &, & f(%)%

V3 -1
o 5
V3 +1
B) 5
C)—3+1
2
(3 +1
0 (2 )

s JoECE ()
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9.

10.

11.

12.

13.

14.

|

The abscissa of the point on the curve

3y = 6x — 5x°, the normal at which
passes through origin is

A) 1 B Y
C) 2 D) Y%
if f(x) = A ox il then its
maximum value is

A B) %
c) W D) 1

It y = x* — 10 and if x changes from 2
to 1.99, then change iny is

A) 0.32 B) 0.032
C) 5.68 ., D) 5.698
The function

f(x) = 4 sin® x— 6 sin® x + 12 sin X + 100
is strictly

A) increasing in (n, 31;2)
B) decreasing in (%,n)

C) decreasing in ["% %]

D) decreasing in [0, %]

f(x) = x* has a stationary point at
A) x=e B) x= Y4
C) x=1 D) x= Ve

The curve y = x%' at (0, 0) has
A) a vertical tangent

B) a horizontal tangent

C) an oblique tangent

D) no tangent

Page No. 5

10.

1.

12.

13.

14,

. = 3y = 6x — 5x° R fig 1 o R @

e T €, T T
A) 1 B) Y%
C) 2 D) %

1
ﬂﬁf(x):m%,ﬁmﬂw
A 2
NEA B) %

c) ¥, D) 1

TRy =xt—103IAR 2 1.99TH x
qiafia gl s, @ y # ufEds W

A) 0.32 B) 0.032
C) 5.68 D) 5.698
e

f(x) = 4 sin® x — 6 sin® x + 12 sin x + 100
IHEIA
A) (n.3“2) deag @ e

B) (%,n) A

C) [—/2%] Foew?

D) [o, %]ﬁaz@%

f(x)=x*m@ﬁmﬁ3___qt%|
A) x=6 B) x= )
C)x=1 D) X = Je
(0, 0) W aHy = x5 H
A) U Feate ol vEn @
B) s afiet voel van &
C) e firlwr e @ @
D) #¥ wei @ TE @
5 JCECE (M)



15.

16.

17.

The area of the region bounded by the

X X2y e
—_— =
ellipse 25116 1is

A) 20 = sq. units
B) 20 n? sq. units
C) 16 7 sq. units
D) 25 n sq. units

The degree of the differential equation

d? dy Y dy) .
(&3—:—)+3(é) =x* log (&%J is

A) 1 B) 2
C)3 D) not defined

Solution of differential equation
xdy — ydx = 0 represents

A} a rectangular hyperbola

18.

19.

B) parabola whose vertex is at origin
C) straight line passing through origin
D) a circle whose centre is at origin

The solution of :—z+ y=e*y(0)=0is

A)y=e*(x-1)
B) y=xe™
C)y=xe™+1
D) y=(x+1)e*

it[a|=10,[p’| =2and 2= b =12,
then value of | ?x?l is
A} 5 B) 10
C) 14 D) 16

15.

16.

17.

18.

19.

Page No. 6

A A

2 2
a‘ﬁqvl;—s+:’—6=1§mqﬂam@3$1
RO Tl

A) 20 n =i grgal
B) 20 n2 i gehidai
C) 16 n2 =1 gowrda
D) 25 & o gersaf

STaehel-a iRt

YY), ()~ 1oq[FY
[Ef"’_}'a(dxj - Iog(dszEﬁ
Ffe ®
A) 1 B) 2

C)3 D) ufonfee

AFHEHIT THEHOT xdy — ydx = 0 Fi g
guiten &

A) T&F AAER faREes

B) Wawa foreem i 71 W 2

C) 7= & Tt dieft
D) e ga Rrgem g @ m R

dy ~x _
5ty =eny0) =0T TR

A)y=e*(x—1)
B) y=xe™
C)y=xe*+1
D) y=(x+1)e™

aR[a|=10, [0 |=23kab =12,
?I’lla_)xb_)l?ﬂm%

A) 5 B) 10

C) 14 D) 16

5 JCECE (M)
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20.

21.

22.

23.

The feasible region in LPP is always
A) hexa polygon

B) open

C) closed

D) convex polygon

If A and B are two events such that

P = J5.P B)= J5.P(AB) =
then P (A’ "B')equals

A Y2
B) ¥
o) Y
D) He

The probability of guessing correctly at
least 8 out of 10 answers in a true/false
type examination is

A) 764
B) %28

C) 4%024'

D) %1

Let X be a random variable taking
values x,, X, .... X, With probabilities
Pye Por oo p, respectively, then var (x)

A) Zpx - (Epx)?
B) Zp2x2-ZpX,
C) TpxZ-(Zpx)
D) Zpx-ZpX’

20.

21.

22.

23.

LPP i |wrea 89 Wed B g |

A) % TG

B) g
C) @&

D) Suet =gy

IR A 39k B & ged 3@ WER & 6

PA)= %.P (B)= Ja,PIAB)= 1.
@P(ANB) =

A) %2
B ¥,
c) Y
D) He

F Y- TER R a0 I AN
8 %1 TEl ST T <hl T §

A Yea
B) %23

C) 4% 024

D) %1

g X o Irgfees R e
TR P, Pyr vever p,, & QY I WA
X,y Xy -ore X, 8, T VAL (X) B

A) Tpx—(Zpx)

B) X pi2 xlz___z P X

C) Tpx2- (ZpxF

D) Zpx-Z pixl2
5 JoECE (W)



24.

25.

26.

27.

28.

Relation R in the set
A={1,2,3,4,56}asR={(x,y):y
is divisible by x} is

A} Reflexive and transitive but not
symmetric

B) Reflexive, symmetric and transitive

C) Symmetric but not reflexive and
transitive

D) Transitive but not symmetric and
reflexive

If f: R > Ris defined as f(x) = x*,
then

A) fis one-one onto

B) fis many-one onto

C) fis one-one but not onto

D) fis neither one-one nor onto

1
Iff: R — R s given by f(x)=(3- xa)’é,

then fof {x} is
1
A) xA B) @
C) x D) (3-x%
Let » be a binary operation on the

set Q of rational numbers, then
a~b=(a-b)lis

A) commutative

B) associative

C) commutative and associative
D) none ;

Number of binary operations on the
set {a, b} are

A) 2

B) 4

C) 16

D) 32

Page No. B

24,

25.

26.

27.

28.

A0 R

T A=(1, 2,3, 4,5, 6} &
R={(x,y):x g0y Rvsat ) gy
R%

A) e i T i quiid e
B) Tagey, guia i dshmeh

C) wnfira ©ifr Tgey iR wshme e
D) W <ifth wHivd 3R wged &

AR f(x) = x* F &I f: R > Rufonfia
B g, Al

A) f CH-TF ATSEF § |

B) f 3eh-Teh TS5 ¢ |

C) f UH-T B S A=BEFH T R |
D) 4 T-THh, 7 =BEH ¢ |

Tfe f(x) = (S—XS)% TR > RIS,
Al fof (x) B

A) x% B) x3

C) x D) (3 -x3)
e « ooy GEmatl F =g Q W&
e afFm 8, Ma+b=(a-b)’R
A) swafaf

B) wgwH

C) waffy iR we=rd

D) g &

g (a, b) W fgamemd afenad &
e
A) 2
B) 4
C) 16
D) 32
5 JCECE (M)
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30.

31.

A

29.

If area of triangle is 35 sq. units with
vertices (2, — 6), (5, 4) and (k, 4), then
kis

A) 12

B) -2

C)-12,-2

D) 12,-2

If A is a square matrix of order n, then
| adj (A) | is

A) AP

B) Al

C) A

D) |A]

If a, b, c are in AP, then

X+2 X+3 x+2a
X+3 x+4 x+2b|is
X+4 x+5 x+2c

A) 0
B) 1
C) x
D) 2x

. The function given by f(x) = tan x is

discontinuous on the set
A) {(nmt:nez}
B) 2nm:nez)

C) {(@n + 1)% ‘nez}

D) {i‘é’-‘:nez}

Page No. 9

29.

30.

31.

32.

Ife 39 (2, — 6), (5, 4) 37 (k, 4) T4
P w dava 35 afFd R, Wk e
A) 12

B) -2

C)-12,-2

D) 12,-2

e A Joft n i aegE B, W adj (A) | R
A) AT

B) |A["

Cy AT

D) |A]

gfe a, b, ¢ a9ier Foft F &, A1

X+3 X+2a
X+4 x+2b|®
X+5 x+2¢

X+2
X+3
X+4

A) O
B) 1
C) x
D} 2x

f(x) = tan x S W& BT
T W ARGRE |
A){nnt:nez)

B) 2nn:nez}

C) {(2n+1)V2 ‘nez}

D) {nz—“:nez}

5 JCECE (M)
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V1432 +41-% i +1-22
33. Ify =tan™ ( = ' 33. Ak y = tan™ .
J1Ex® —J1-x2 / i+ =J1-%
dy. d
—1<x<1,x¢0then-a%|s —1<x<1,x¢0%,?ﬁ-%%
= A =
1-x* ) 1-x*
B) X B) X
i+ x4 Next
_x —X
C) C)
Vi+x* 1+ x4
X
D) D) —
1-x* 1-x*
(cos x)~® (cos x)~®
34 Ify = (cosx){%5%) then 34, ARy = (cos x) (%8 x) g,
dy . : dy
dx it
ylogcos x -1 ylogcosx -1
A TyTanx A) Ty tanx
__y'tanx y* tan x
B) Viogcosx—1 B) Viogcos x-1
__ytanx y tan x
©) y log cos x +1 © ylog cos x +1
cos X » Sin X COS X » Sin X
cos® x +1 D) ~costx+1
35. The derivative of cos™ (2x* — 1) w.r.t. 35. cos-' x ¥ G cos™ (2x% — 1) F
cos™' x is qﬁ:{%
-1 1
2 B) —F/———— —_
A ) 2 A) 2 B) S
2 2
= 1 — 2 = — w2
0) % D) 1-x C D) 1-x

D 5 JCECE (M)



| SN A R

Je* - 5e” dx =
4e" + 5™
ax+blog|4e*+5e™| +cthen

A a="Y.b=7
B)a= }§.b=74
C)a=Jg.b="%

D)a= %.b="74

36. If j

. J‘- x* +[x|+1 - it
. _1x"'+2|x|+1 X is equal to
A) log2 B) 2log 2
1
C) Elogz D) 4log2

x9
38. ——-—st is equal to

(4x2+1)

1 1Y°
A —la+—| +¢
) 5)(( +x2)

1 1\°
B) 3[41‘?) +C

1 -
C) m(1+4x2) *ye

1( 1 -
—|S+4
D) 10[x2+ ) +C
39. The value of Isin’x cos?x dx is
A % B) %

C) % D) 0

40. Area of the region bounded by the
curvey=cosxand0<x< mis

A) 2 sq. units B) 4 sq. units
C) 3 sq. units D) 1 sq. unit

D Page No. 11

36. Ife

1
37.

38.

39.

40.

Iae'—Se“ dx = ax+b log

4e" + 567
[4e*+5e™*|+cd, @

A a="Y.b=74
B)a= Y§.b=7%
C)a="J.b="7

i B
C) m(1+4x2) rc

11 Y° :
D) :IE(F“‘) +C
_l‘sinaxcos‘xdxwm%

A B) %

C) % D) 0

TH Yy =cos x AN 0 < x < 7 g IREFY
& 1 SR ¢

A) 2= gt B) 4 =i sl
C) 3 =i ywrdal D) 1 =i 3&rd

5 JCECE (M)
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42,

43.

Page No. 12

05

Range of sec™ x is 41. sec™ x 1 Avit B
A) [0, =] A) [0, =)
B) [0, - {5} B) [0, 71— {3
C) (0, m) C} (0, m)
D) (0.1~ { %2} D) (0.7 - {5}
Value of sin™ % - sin™ 817 42. sin™ % - sin™ %7 HAAR
84 -+ 84
-1 B4 A i
A) cos 85 ) cos 85
-1 3 B) tan™ C
B) tan 5 ) 5
-1 8__5_ =1 _.82
C) cos™ =2 C) cos™ =%
-5 D) tan' =
D) tan™" = ) tan™ =
X X—y _ [i) _ [X-Y]
Al = | tan-t | =—= i . tan™ —tan'|l—= | =
tan (y] tan [x+y)'s equal to 43. fan™ | y |-1an 5Ty
A % A T
B) % B) 73
o) % ©) 4
-3 -3=n
D) 37, D) =87,

. The number of possible matrices of 44. 3 x 3T ¥ Ta el <R wE foral |,
order3 x 3 with each entry O or 1 is RadivasTRRom1& ?
A) 27 A) 27
B) 18 B) 18
C) 81 C) 81
D) 512 D) 512

5 JCECE (M)
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45.

46.

47.

48.

49.

50.

-, .
If a is a non-zero vector of magnitude

—
‘a’ and A a non-zero scalar, then Aa is
a unit vector if

A) A =1 B) A =—1

1
C)a=|A]| D)a:l—ﬂ

, —

If 8 is the angle between two vectors a
— — =

andb ,then a - b 20 only when

A) 0<8 <% B) 0<6<™
C)0<b <m D) 00 <n

Distance between the two planes
2x+3y+4z=4and dx + By + 8z =12is

A) 2 units B) 4 units
C) 8 units D} %2‘9 units
The distance of the plane

o (%h%.i_%ﬁ )=1 from

origin is
A) 1 B) 7
C) % D) none

The reflection of the point (o, B, v) in
the xy - plane is

A) (o, B, 0) B) (0.0,

C) (o, —B,7) D) (o, B, —%)
In a LPP, objective function is always
A) Quadratic

B) Linear

C) Cubic

D} None of these

-

L. -

45

46.

47.

48.

49.

50.

.aﬁ?@mﬁwﬁﬂ%mw
‘a' B 3t ) T I e B, Al ra
O T | g A
A) A =1 B) A =—1

1
C) a=|A] D) a=m
aRedATRY a b FAEHTE
aﬁm%,?ﬁ?-?aomm
A) 0<0 <% B) 0s8< ™%
C)0<B <m D) 0O <m
A aad 2x+ 3y + 4z =4 3K
4x+6y+8z=12F fraHghe
A) 2 Tl B) 4 gebrgal
C) 8 gt D) %g—g‘sams‘m
e A gaae '
T (%i+%]"%ﬁ)=1ﬁaﬁ%
A) 1 B) 7
o % D)

i

xy-aree 3 f5g (or, B, ) 1 T
A) (o, B, 0) B) (0,0, %)
C) (~o.—By) D) (o B.-7)
& LPP § 3¢W e gad g
A) Teemdy
B) fas
C) wfig
D) 38 & =i e
5 JCECE (M)



Answer Key for JCECE (Mathematics) (Set-D)

Q. No. | Answer Key Q. No. | Answer Key
1 A 26 C
2 A 27 A
3 C 28 C
4 B 29 D
5 A, 30 A
6 A 31 A
7 B 32 C
8 B 33 A
9 A 34 B

10 B 35 A
11 (@ 36 C
12 B 37 B
13 B 38 D
14 A 39 D
15 A 40 A
16 D 41 B
17 C 42 A
18 B 43 C
19 D 44 D
20 D 45 D
21 C 46 B
22 B 47 D
23 C 48 A
24 A 49 D
25 D 50 B




